3.

4.

SkO|SF

e T Sy ]
S % /23 = 4.796 Q& o]-gato] TAgHS 75t 4
9l AL T W e}

© V230
@ /23000

@ 17 ® 27

® 47

T+V3 9 Ay BBES 45 HES p gt g of,
a, b & ZtZF ool

2++/3 9 &4 BELO?

D V3-5 @ V3—-4 ® v3-3

@ 3-2 ® V3-1

VB =1552 < u, A B 9

7.

1,425
1,459

1,493

1.526

1,559

® A:1517,B:2.32
® A:1.459,B:241

® A:1.414,B:2.03

@ A:1517,B:2.41

@ A:1.459,B:2.33

1.7
1.8

1,769
92 | 1,794 1,797

19 1,822 1.825

1.8

47 | 1,849 1,852

D v/3.60
® V3.14
® 333+ +3.15

A H Y o
25 o A HES a0, &

of grg Fotofer,

@ +/3.45
@ +/3.11-+/3.01

e
=

FTHESVG T W a0




10.

11.

12.

V5 =2236, V50 = 7.071 & o], oh29] A F | 13. the F Al 2AE 1 ), VI3 = 3.606 U2
2] g ALY o]g5to] L& 4 Q= AL9
@ /500 = 22.36 @ /5000 = 70.71 @ +0.052 @ V130000 @ 1/0.0013
® V0.5=0.7071 @ /0.05 = 0.2236 @ /5200 ® +0.13
® /50000 = 707.1
14. V10 o] 25 B RS o & T W, —(a—/10) 2] 727
39 45 RESa, 25 HES VAT, 2 1)
\f—’]o—r—r a T T ‘1]' fﬂ1a ®2\/E @_3 @3
o] gk Antelz}y
@ —2V10 ® V10
® V3 @ 1+3 ® 2+3
@ 5 ® 2+2V3
1516 9 &% 582 a2 3 W), 20 - V6) o F2
oozt
V10=3.162 & o, /0.4 o] ZAZS TS L
16. V7 2 A4 HES o, A5 FESp S T uf, 20+
£ Falojat.
2k 7 o tiste] V7 o] A4 BES f(7) ol
St & EM 2 < VT <30|BE f(7) =22 &
o, £(58) + f(66) 9] &< Fotoiet.
17. o2 AlFTEE ©]85t9] 2 4+ 1/0.002 o] A4S
TSHH?
V3=a, V5=0b< 1, +0.008+300 a, b = + 0 1 2
~I ]_o:] L]-E]—H]qu 2 1.414 1.418 1.421
[e) o o . . . .
19 4,;’:59 4_.370 4.582
@ 5a+1—0b @ b5a+ %b 20 4.472 | 4,483 4.494
21 4.583 | 4,593 | 4.604
1 — 1 —
(©) Oa—|—15b @ Oa+25b
1
© 15a+ o5b @ 1.8612 @ 5.897 ® 1.4281
@ 1.3612 ® 1.459




Vh =2 xxx ©|BZ /5 -1 =1.x xx 7}
Aok, meb] A BEe [ |o]y, Ag BEL
V5 —1 oA H RES W Umz] FRo|ng
VE—1-[_]=[_|7t 9
19. o3 2= AR dREo|th i3 F Fojd &
£ olgsto] I 32 & 5 e A2?
PN 0 1 z 3 4
1.0 1.000 | 1,005 | 1,010 1.015 1.020
1.1 1.049 1.054 | 1,058 1.063 1.068
1.2 1.095 1.100 1.105 1.109 1.114
1.3 1.140 1.145 1.149 1.153 1.158
1.4 1.183 1.187 1.192 1.196 1.200
1.5 1.225 1.229 | 1,233 1.237 1.241
1.6 1.265 1.269 | 1,273 1.277 1.281
1.7 1.304 1,308 | 1,311 1.315 1.319
1.8 1.342 1.345 1.349 1.353 1.356
1.9 1.378 1.382 1.386 1.389 1.393
® v1.91
@ /163
® 10.0172
@ /193

® V1.52 +/0.000142

20. o5 B ARl 4ot & § Fold ®
£ olgst I & 72 = gl A0
= 0 1 2 3
2.6 1,612 | 1,616 | 1,619 | 1,622
2.7 1,643 | 1,646 | 1.649 | 1,652
2.8 1,673 | 1,676 | 1,679 | 1,682
2.9 1,703 | 1,706 | 1,709 | 1,712
® v2.61 @ V272
® V283 @ 2.93

® /2.62++/2.70

21. o5 5 YA 4 O] A seAF v do] ohE S)

=2

@ V72 @ V720
® /7200000 @ +/0.0072
® /0.072

22. o3 F V60 o] A AL s doe] e RS BE
1=2m?
D V0.6 @ /600 @ /6000
@ +/60000 ® +/0.0006

23. /30 = 5477 4 W, /a = 0.05477 & WESHE o 9
= oozt
@ 3000

@ 300 @ 3

@ 0.3 ® 0.003




O 1.414

@ —2.449

) 9 gk tolet (g, &

4w

£ 0 1 ‘ 2

1 | 1.000 | 1005 1010
2 | 1414 | 1,418 | 1421
3 | 1732 | 1.735 | 1.738
4 2 2.002 | 2,005
5 | 2.236 | 2.238 | 2.241

9
O =
) o k= FShA?
3
B 0 ‘ 1 ‘ 2
1 1,000 1.005 1,010
2 1.414 1.418 1.421
8 1.732 1,735 1,738
4 2 2.002 2.005
5 2.236 2.238 2.241
6 2.449 2.452 2.454
7 2.646 2.648 2.650
8 2.828 2.830 2.832
@ —-1.732 ® 1.732
® 2.449

£ o]-gstof

9 2ejzt




